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A3+ 1,356 535(economy) 809 - 12
o] XA 1,356 535(economy) 809 - 12
2Hs 4 1,356 535(economy) 809 - 12
A4 1,356| 535(economy) 809 - 12
Hg & 1,356/ 535(economy) 809 - 12
A 1,356 535(economy) 809 - 12
ARl 1,356 535(economy) 809 - 12
HYS 1,356/ 535(economy) 809 - 12
ARaE 1,356/ 535(economy) 809 - 12
A18%1 1,356/ 535(economy) 809 - 12
a4 1,356/ 535(economy) 809 - 12
o] 54 1,356/ 535(economy) 809 - 12
3|4 1,356/ 535(economy) 809 - 12
2178 1,356 535(economy) 809 - 12
2174 g 1,356 535(economy) 809 - 12
vl 1,356 535(economy) 809 - 12
A& 1,356 535(economy) 809 - 12
o] &3} 1,356/ 535(economy) 809 - 12
=3A 24,408 9,630 14,562 0 216
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- 1,22 MAYH| ={$223x38}(=34H])+$107X4(AH|)+$35X4(LH|)}= 1,237 X 1,150
- 342 MM ={$223x38}(=34H])+$107X4(AIH])+$30X4(LH|)}= 1,217 X 1,150
- 565 MAH| ={$223x38H(==E|)+$107X4(AlH])+$26X4(H])}= 1,201 X 1,150

1,422,550
1,399,550
1,381,150%
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(9] - 9

4 F9 AP gE-2(Class) A A 8] Y 7] g
&%t 1,230,080 400,900(Economy) 829,180

o] g 1,230,080 400,900(Economy) 829,180

AFE 1,230,080 400,900(Economy) 829,180

A4 1,230,080 400,900(Economy) 829,180

A & 1,230,080 400,900(Economy) 829,180

2AF 1,230,080 400,900(Economy) 829,180

el 1,230,080 400,900(Economy) 829,180

= 1,230,080 400,900(Economy) 829,180

ARE 1,230,080 | 400,900(Economy) | 829,180 ﬁ%_l ;E‘i—
A&l 1,230,080 400,900(Economy) 829,180 o] B 1 %_
H&A 1,230,080 400,900(Economy) 829,180

olTd 1,230,080 400,900(Economy) 829,180

39 1,230,080 400,900(Economy) 829,180

U4 1,230,080 400,900(Economy) 829,180

A1 A% 1,230,080 400,900(Economy) 829,180

Gl 1,230,080 400,900(Economy) 829,180

A& 1,230,080 400,900(Economy) 829,180

o] =3} 1,230,080 400,900(Economy) 829,180

Al 22,656,140 7,216,200 14,925,240 514,700
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3) & A901|Ag AMHZA XY 38, SXAIY Sof Mg 2 HE Jts

4) =HH|, AH|, LH|(0jH[FE &2 X1|X'||H| S Y, SEEXMoZ XIDEIXet S H|L(QUH| X)) XD)
X M|HH| ot

- 1,23 HIFH| =($223x38H(<5 2H|)+$107X4(A H|)+$35X4(LH|)}= 1,237 X 1,150 = 1,422,5509
- 343 MM ={$223x38H(ZEH])+$107X4(AlH])+ $30X4(YH|)}= 1,217 X 1,150 = 1,399,5502
- 5,68 MM ={$223x32(EHH])+$107X4(AH|)+ $26X4(YH|)}= 1,201 X 1,150 = 1,381,1509
5) 7|EfH|]: 7}0|E &-Z2(415,3009), 0fH|H|(99,400L)
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